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print(len str ,str)

print|(?* ' or i in range(®, len(str), 7)][)m
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["11611', "11111', '1ee", '@’, "1111', "16010', '1660", '16610', '11111', "111e1', '@, '1
'11111°, '1', '10@01', '1160', '11610', '10160', '10160', '11111', '"11611', '11', '11060°,
'11111°, '111°, '1', '11e1', '1eeee', '1e101']
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2 1 =["0"#(5-1len(i))+i if(len(i) I= 5) else i for i in 1]
print(1)
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['11011°, "11111°, '00100’', '0eee’, '@1111’, '10010', '@16e0’, '1e10", '11111', '11161°, '00600’, "10001', '©1011', '10011°, '10100', "11111°, '01011°, '000@0’, '11101', '11100"
'10001', ‘11110, '11111', 'eeeel’, 'leeel’, 'e11@e', '11eie’, 'lelee’, 'lelee’, '11111', '11e11', 'eeell’, '1106e’, '91eee’, '1elle', 'leeel’, '11111', '111le’, 'leele’, 'eelel’,
'1e1ee’, '111e1’, '11@e1’, '11111', 'ee11l’, 'eeeel’, 'e11e1’, 'leeee’, '1e1e1']

‘.Join([ii[i] for dii in 1])
print(*[chr (int(str[i:i+7], 2
for 1 in range(®, len(str), 7)], sep=

, end=""\m

import base64

str = "Gx8EAA8SCBIFHQARCXMUHwsAHRWRHh8BEQwaFBQfGwMYCBYRHx4SBRQAGR8HAQOQFQ=="
str base64.b64decode(str)

1 [bin(i).replace("@b", "") for i in str]

1 ["@"*(5-1len(i))+i if(len(i) 5) else i for i in 1]

for i in range(5):

str "".join([ii[i] for ii in 1])

print(*[chr(int(str[i:i+7], 2)) for i in range(®, len(str), 7)], sep="", end=""
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